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FARKA—% (HE5)
AEH N KEEH NEEH =M & &t
3 i 1% 2% 1% 2% 1% 1%
7t 3% 2% 44, 3% 3% 154
& &t 44, 44, 5% 5% 44, 22%
= E 5% 5% 44, 44, 5% 23%
HRARR—8E (NEE
AR N KEEH NEEH =M & &t
Nl 14 2% 2% 3% 1% 9%
N2 2% 2% 2% 6%
N3 14 1% 1% 1% 1% 5%
N4 0%
A5 14 1% 2%
& &t 44, 44, 5% 5% 44, 22%
MARKA—8 (Fi)
AEH N KEEH NEEH =M & &t
70 1% 1% 2%
80f% 3% 2% 3% 3% 3% 14%
90f% 1% 1% 2% 1% 1% 6%
& &t 44, 44, 5% 5% 44, 22%
FARKE—% (FE)
AmE | XWB | Ame | AmE | ama | &
505572 1% 1% 1% 3%
6151 1% 1% 1% 14 4%
7 2% 4% 3% 1% 2% 15%
& &t 44, 44, 5% 5% 44, 22%




